PR3 BN mE AR E RS ME)R T ER

3 =
N b=k = (5/8~15) IRV GE 147 | it
OB G KB B 2 {7 |PR%E 2 {r_ | KFnm
36z |m k 3fr RS
R FER TR 2L
5 {7 |EERA 5 {7 | &
5PN N
v ET I E
RS n kR
N Ay MR =l (4/24~5/5) 1A% [ LK IR EYN
VAR dh e EN N i 2 {r JEAH RN
3 {r | AR 3pr | dbiE
447 |WEBC 47 EBER A
50r [R¥ 5 {r |#HZK
6 ir D= 6 fr |HIFT B
70 Bk 70 [ EiFsh
- \EET R | RERE
)7h7=2(4/23~5/3) EilZS 147 |[FHEE 147 [/hEJR
A NIRF S 22 ) BEBR 4 PR ER 2 {r | B KRR
3 {r | AT AR 3 {r |FHYE
4 {7 | Bl YAEZAL
[EDN 147 [k - 58 CRYEFEED 147 |95 - wf . (BERE
27 [ - I CRYEAEAR) 207 [FE - hngE (B RERID
3O7 (W - s (k) 3L |[#efEs - e (hed)
n kR - 52 (FEVE) TR -GN
A (5/4~5) A | 1L |BS 147 [J7AR
ARSI RE Y & — 2/ [WiIFg Tk 24z AKX
3pr AR 3L | B KR
407 |BREER 4 {7 R
5 {r |[EB 57 |fEH
6 fr [WiFE & 6 Or [
7 hr [ AR A 7 hr [ AR A
8L |HXK S ||EAR
fEARSA | 1AL |BEE CECIN) 147 %E 4 (HK)
207 Rl RsE (BFIS) 2 {ir EL ()
3PL P AR Eh (e TK) 3L +mi@#(ﬁﬁ)
447 (X RN 447 DIGOERF (FR)
54 [HA B QHET LK) 5 pr [ KAREE - (FEAR)
6 pr I i (FEAR) 67 JFHEFEER (HK)
70 AT v () 7hr AR O X (%)
8fr it Bhsm (BEIS) 87 |mA HE (HKEEIN
Hrik#E (5/5) [EikES 147 DB R 147 [kkr A
WA RRZEE T ) —F 2 7 | R A
3L e
4{1[. 5 b‘E:ﬁB
YA EESNEIN
6 {ir @%E%A
70 [P
FTAEESN:
EAKA | 10 #8118 CeZRE) 147 [ EE Gk )
2 {ir ﬁm tith, Ot R 207 [l B #iEy GRERE)
3L e Ot ED 3 | B[R e CEHI2RE)
4 {7 %W 2K OtHED 407 | 7 (Bii2E )
501 | RE Mtk OtiZRE) 54r Pk FHAE Gbkyr o)
6 fr [db)I 2k GEE4)
7h7 |HE SR CEFED
8 fpr &)1 ﬁ&(%%%@)
NIV (4/16~29)  [HIfE 147 [VEEC— 147 |#E
7 7 ST R R i A 2 |k 2 i [ a R
3fr |EFF 3fr JEAR
44 ﬂE 4 (L | KFnvE
5 {ir 507 |iifg
6 ir *%(7’ 6L |72
70 Rk B 7L |
I ) I ETR
777 =(4/9~5/21) 147 [Hips
Rt BT 7 E—SHh 2 N [BES
3L |HXK
4 {7 | BEZEE
5 {r | B FR A
6 {7 | HilpE
700 [ TR
) (BB




Ji=
B H 7 7 7 7
#Fyh-(4/9~5/15) 147 [HrE TK
1 R B BR TS B S e 2 i [JEARIE
3 A7 [
)l i
50 Bt
n |8ka
iy |METE
Vi h]
AR =V (4/10~5/1) 17 |BI5AE 107 BRI
A BN 2 {r B 2hr [IFn
AL [HiEE T 3fr |FEM
47 (BRI 47 (R
50 |Riiik T 50 | LiErd
n R n_ |ERRE
7 hr | T GG
G ES n (i
FHEE (4/29) [ {4 147 1B T
NI AR 2 BN T
3N |RiZEE
[ 107 [ B BRREN)
2fr i)l {847 (Al T)
3hr FE iR (BIR)
i RIE 2 (BEZEES)
547 [/ IR (A T
N RAR 5F (BREEE)
n s e BRZEES)
S B (BiZEE=)
HEH 17 (AR R (BUR)
2fr [F5M Fosl (FZ&)IT)
3OE il HER (Al T
e B (MBS
54r [vb  Ft (Al T)
B BA (AT
DA Eewl (Ahd 1)
/]
MoeRfk | 147 [ AR (AkT)
2fr MBI PER (Al T)
3fr [H)E A (E)IT)
@ E wUr (A T)
500 &+  w (BEEEs)
0 | PEDRRPYES RRZS)IT)
[ C )
| EYs FRE (AT
FLER (4/29~5/7) EilZS 147 [WiF K 147 [BRItE A
A IR T AR AE At 20 | = 2 {ir R
3hr |ikEnE 3fr Bt
4 |FEJE 4 {7 [ThiskRE
507 | &% 507 |REiAl
n_ |HiEE 0 AT B
[EZS |4
e R
A 147 (B[ HER Qb LX) 17 /vEsr 55 BRIREA)
2fr g Ew QHEE LK) ofr [ =8 GEIREN)
R PN S 2 D) 3fr kB HE (BEIEN)
407 |BIR A& (i TK) T EREEE TG IN)
507 "=l HER (=iisn) 50r % T GEEE)
601 I AR (ZiHE%sm) 6 pr [T - BRI
700 [ Mi— Gl TK) 7L el HE GRED
8hr k% —pl (RS LK) 8fr |75l EME (B U X R)
9fr | =—HA # (BIS)
B 7 A 147 [ - PR (=JR%E0) 147 k2 - /ESr BEIREN)
200 /INEK - M (Z i) 20 | R - AR (BEIAEA)
AL DIigg - BrEr (R LK) SOL (B - =i (R
R E R YNGR ) 447 I - Thg  (B{EEA)
5 {r k72 - M) (R LK) S5AL WY - g (B EEA)
64hr [Fr - 1hm  (HikEnE) = - R BRREA)
740 B - EmIR (S n[KE - K GER)
8hr [ERWNI - i (Zif30) n B - St GGEJRD
JTME =l (4/16~5/7) 147 DEBEE IRl EENG
A RSE SRR AR 2 fr |[FERR PR BN
3fr [AHEE 3hr | By )a
4 {7 (B 4 (o |V - R R A




7=

@ A i
) e u e
& (4/16~5/8) EikES 147 |HirE 147 |fpk
NI T Y — T 2 |HiJe 2L |Fiy
3L | H AR A 3L | H AR A
4 {7 [rse 407 [EEAHE
5 fr |Hfie 5h7 |[AK
6 I | 6/ |FEupE K
740 | 7 hr [R5
8 hr |57 8L |4
[ZDN 107 [sa%k & (HEd) 147 (Pt Evk GEE)
2fr |miy  HE CRIEMHE) A EE )
Shr |PEEF A (HIEAEIE) 3fr [ mH B (IR
I EEE S ACGEE) T Y W)
54 [k RE (BEAFE) S5Ar [HE  EL (hEE)
0 [fRA HER (ITF) 1 kESLS (AK)
iy A FH (YE) T ECEEE E NG VA 5EN)
| FHARE F GR%) n AT #AZE CRUEMRA)
JeiE (4/16~5/4) HE 1 {7 | BROEEA R 107 |ReAE
A 1 B S T A 2 hr [HilEE oN | =
3 [BEIS 3fr [HiiE
4 {7 [Fi 407 [Yer =R
5fr [AHEE 5h7 |[HK
6 hr | A KBER 6 fr [fHVE
70 B 7L | B0
8hr PR 7400 | KRR
B oA | 107 [BRE] B (BEIS) 107 |MGpn 2 (=HFs0)
L -askett | 207 [ER B — CRUEFAL) 2fr [iliks  BR3E (=)
3hr | H wE (HEE) 3fr |[Eg T (=)
AQr [BEH W] (HEE) 440 /hUTERR (BEEES)
S5O0 B K (IR 540 [BmEVSA (BZEES)
0 [REH BEEk (HE) AT BRZEES)
GG R D) RN
0 [ Bl CRUEMEE) N EARFERL BREES)
-52kg#k 107 [0 B BEEY)
2 [WAEHE T (CiliFh)
3fr R & (BEEYS)
4 [BEK A A Fr (Zif550)
500 AL el (ZiliEs)
0 |EifE RE BREES)
il EFE ()
[ EESEZNERN N
-5Tkg#k 107 [ EEAIT (BZERE )
2hr R Z Ak (A KER)
3pr il AE (HK)
407 (B KHE (AK)
54r [IvE  FIL (BIPER)
n [NE B ()
n IR B GEER)
- (HH A BEREES)
-63kg#k 107 |kt My (Zilisesn)
2hr KA = (BEZE)
3fr R F& (BB
407 [KFAEETE BRZEES)
54 [kv% £H (AMBZT)
1 W ErB S GEER)
AN EN)
-T0kg#k 147 [ER  SEme (=Jli%esi)
20 |FRbE  BE BEET)
3fr [ EARGE T (H%0)
4 {7 [BEm & ()
540 [/hEE AT (H REER)
R AMGENTN)
1 [IAREEE (EARID)
~78kg#k 107 [BR HE (Zilisesn)
2fr |FeEFES - (AKX
SN [ KFEFEERH (HEE)
407 [lbo Fvw (BEEES)
54 [BHpk I (FAEH)
@A Wi (AX)
78ke AL 10 B E - & BREEY)
27 | = (i)
3hr [EB Kk FERRTE
= (5/3-4) A& 147 [BHS B 147 [ER#EB
A ST EGE AR D Y 200 BB A 2/ |BRIRRLE; B
3L |#EMAB 3fL |JEARA
447 |4 B 47 |iBIEB
5 ¢ [WiFg B 5 {7 |#EWAB
6 fr JZEAIEB 64 | B




il H

L

=]

?.

z

?.

=18 (5/3+4)
A IR SE AR D

[EDN

160

77
AN

(BE)

160

ok aE

(EESD)

2 {r

il KM

(uAH)

2 {r

NILEEAT

EAX)

3 {ir

E 46

(FA¥E)

3 {ir

PN L

(F#E)

447

=
BEES

T (BUEERD)

44z

(il Eiea

(i)

5 {ir

#A

g
R (BEIS)

IS

5 {ir

eSS

(B [E )

6 {1

(REPERE)

6 {1

Jia &

CEID)

727(4/24~5/21)
R NE - FARa— b

[Eifz3

142

IR T

142

iR T

2 {r

EEC

2 {r

AU HE AR AR

3 {ir

3 {ir

FE'ON

AR

400 |BUS

4{r

2

142

Qe LK)

162

ML B

Qe LK)

2 {r

B
INFERNS
YIRS

(RSN

2 {r

HIRE Y &

(IERBN)

3 {ir

NS

(BB

3 {ir

Hit ik

Qi LK)

J]

BhL I

(IERSN)

J)

KW REE

CREAETR)

577 VA

162

7 i

(e LK)

162

AT - Hif

Qe LK)

2 {r

2

(RSN

2 {r

EERN

(HIPE LK)

3 {ir

/N -

(EE)

3 {ir

Yo« AR

Qi LK)

J]

- i

(IENSN)

J]

HH - A4

(G

K Ivv)” (4/16~24)
B B RE RS —

[

142

JEE

(i 75)

2 {r

N

(B &)

AN T71%%

162

L R

(FHFRR T %)

2 {r

R

(B &)

774k

162

JIIE

[E35)

2 {r

- H %

(wAH)

3 {ir

TH i

[€E350)

INZIX 4
(A7 ny))

1470

ORI DN

(7H7)

2 {ir

LRy Hr

(MiiE=S F)

3{r

%]

(7&H7)

U

A 5L

(M &)

INZIS
(B7 uy))

147

A st

(€S2

2 {ir

TS

(BIE)

3{r

&M

[CIIE)

U

[E350)

74 btk

1470

EX

(€S2

2 {ir

WA K

[E350)

3{r

B0 %

(HiES F)

U

S

Gl =)

VEAVEIZE 3

1470

B

(utAH)

2 {ir

(72 & HB)

3{r

AT K
=

(J&H7)

U

N =

(BIE)

EESSE

1470

[ota4

2 {ir

B 7

3 {r

VAIV)T (4/16)
A RERIR

50kgitk

167

[T TN

(H KR

20 | &

BT

(BEIS)

55kgitk

162

=

(GHS)

2 {r

A It

(B350

3 {ir

k%

(H KEER)

60kgik

147

Rk A

[(EENETN)

2 {ir

N

(%~ T)

3{r

T B

((B350)

66kgitk

142

L% ELfi

(H KEER)

2 {r

ek RIS

(%1~ 1)

T4kgitk

142

=l AV

(350

2 {r

e N

[(EENETN)

84kgik

142

(%~ T)

2 {r

RS
~ =

(BEIS)

3 {ir

7 Bk
A Jnth

(5350

96kgitk

14670

R

(&)

RO

162

BT

2 {r

EENETN

3 {ir

{E1KEE

Txv/) (4/29~5/3)
e SR -5 A

FRO L

1470

BB

147

lilleal

2 {ir

2 {ir

i P K

3 {r

lilleal

3 {r

NG

447

Afr

5 {r

ATSPN

6 {ir

N




il H

g
L

%

?.

Z

?.

Txvy/)” (4/29~5/3)

S ESVALNE NP R PR S

[EPNCED

160

A

(EE )

160

Vil A

(ke )

2 {r

B

(BEIS)

2 {r

fol  AE T

(i)

3 {ir

T

(E )

3 {ir

[ ¥

(B pE )

447

&

(BEIS)

44z

AM—ET - - BB (BRI

5 {ir

EiD

(BE)

5 {ir

firet AR (

Eﬁ)

6 {1

i

()

6 {1

REL Bk

(?Hﬁ)

7hL

[

(EE )

7hL

MR

(B )

8 {ir

T

(BEIS)

8 {ir

HOEXRT)

(A7)

VA M774777 (5/1)
BT AR—=Y B2 —

69kgitk

1672

LT

(=g )

2 {r

Jea]

[ENY)

TTke %

162

(=)

2 {r

B PN

(BB )

94kgihk

147

YL

PN

CrEIR)

FRO L

147

LB

2 {ir

T R

7-Fx)-(4/30)

SRS AR SiES

EilZS

147

AUHE AR AR

147

AHEFA AR

2L

BRI

2 {ir

PR I

3

i

37

—iHFA0

4 i

— {50

4 L.

A

5 iz

Rk

6 fir

R

7L

oA ad

[EIN

1672

HER

(BE)

162

=i

IRGZIIED)

2 {r

KE

VE

(B)

2 {r

=
—

e

Sl

(&S EZ

3 AL

MES

[0S

CRAfEFRR

3 {ir

put
oo
—

\

4 i

bﬂﬁ%

i L

447

)
(GRlEED)
CRAEFRAR)

5 fiL

H
CRERTR)
=

5 {ir

(A

6 {7

[ST‘B

[j]m

6 {1

CREAE )

7L

2E

ShR

(BE)

7hL

(b7 Fo)

8 {1

YA

5

R

8 {1

[ o o i KQ

(= JHi%2306)

B B EE (4/29~5/14)
VRN e sV e

1kmf A b7AT I

142

AL

i

(PRt r %)

2 {r

g

TR

(H)

3 {ir

Al

Hise

(B

44z

P 22 K iEh,

()

5 {ir

IR

&I

(EE )

6 {ir

2

{5l

(M)

A7 /R

162

iy

e
N

[GIEST)

2 {r

A

{2l

D)

3 {ir

Sl

=

(BE)

4 i

T30

HEH

GAD)

5 fiL

I RRR

)

6 {ir

R

Ui

[GGIEST)

KAV =2

1 {7

AL

i

(Prtr %)

2 {r

72 2 RIEA,

GAD)

3 {ir

LBk

i

)

44z

— B

K

[CIEST)

5 {ir

Aty

EE]

EGIEST)

6 {1

HL

[EZ0N

(EE )

Ak S 4

162

LBk

i

G

2 {r

iIE

ALY

(CSRED)

3 {ir

)?u)ll

(EE )

4 i

‘F

i

()

5 fiL

JINE

a5

)

6 {ir

[ EFNT

[CN)

VERM

1 {7

LipeS

KiG

((CEE)

2 {r

5=

Her

(k)

3 {ir

FllEr

=

G

447

— B

E3UN

[CIEST)

5 {ir

Aty

e
L

[GIEST)

6 {1

B

FAF

GAD)

3kmAVT 4
VAT AT
N =Y a=h

162

[N

()

2 {r

g

R

(M)

3 {ir

A1l

Hise

G

44z

HE

Kih

(CSRED)

5 {ir

S|

(EE)

6 {1

&

il

(EE )




i H L
% T X T
BHiiZHL (4/29~5/14)  |A)70F 147 Al e (k)
FA /I R b 20 iRt B Rt B)
SAL Bk HE (i)
Apr [EHF Al QBB
54 [=dm HER (BIPER)
6fr [IA fEd (BEi)
4kmF—h 147 [#fik
N =Va=} 247 [VEEL
3L Ry
4 0L | BRI
5 |AlZefE
F-oa7 V[ pr (R
b 2 b B
3[R
407 [HEBC
50 |AIFAE
FRex] 1AL [k
200 (Rt
3fr | EB
400 [BS
5fr |AIFEE
28 38 (5/3~4) SIS 147 (B 147 [YERA 2R
N RREE PR AR 2 fr |AIFEE 2 fr [RS8
3fr [VEE 3hr I Fp
1 |iEA R
50 |[IEfEE 50 |AIFfE
1 PEE TR N |BEZER
0[RS B 0 [ BERERIR
n B n i)l
[EINI 17 (s e (BUR) IR Y N < R i)
2hr [fhit EPE (GREC) 2 fir &# B CREER)
SN |PepEeih (MR 2B 3Ar [hnEE @ HE LK)
T AR G IES ) T EINEE N TAWS)
50r [BH it (EE) 54 |8 =% CEBZE)
T & (AIFHER) NS NNG T=515))
n [H RS (BRiRNLEF) RNE VG TS5
0 | BRI KRS (M7 BF) R GRS
B CES I TAEEST 14 |BI%2EE
2 {r |[BRi STy 200 DER
3L e 3L | TR
n i Yt [ REZEA
50 | 5 hr [HDE
1 |BIGEER n |BizER
o [EE n_ [WiEA
|1 T RF 1 |BEIGREIR
AT | 142 [JElx B (AI%AE) 147 [ FEERAEEE (BIFAE)
2hr [RO)IL i (RII“2EE) 20 =N B (RIPPER)
3hr |Fx R (BEEES) 3¢ ﬁm P (BIZEAE)
) EJF_Ea (AR S G T )
54 | ftHSRHE (di)11p%) 5hr P58 . (BIZEfE)
n |BH et GEECT) i |BoE R ORHZRE)
1 BRI RS (RRiSLBF) 0 [HE A - (BEGERR)
0 g B (BEG) N | KFk G BEISEER)
7AH 79 MR = (4/10~5/8) 1AL | B
B EBCT S 200 [JEE
RY AL A
iy Bk
TAIVEEE (4/17~24) [ARFIE] 147 147 |mAR%Z+
AR L FE [ARBA 1462 5 = (fE#4) 17 |[FHE =K EARZT)
2fr NVERALEE (BE 7 T) 2fr GEgE i (EAZLT)
AL A (BIR) 3fr 2@ W (EALT)
Apr (K W (EE4) AQr [ EwE AT
5hr | KA —58 (BETT) 5A7 WD ¥ (mALT)
6 fir 6hr ek VEE (WAL 1)
7 7oL |PEr W QEEAL)
8 fr Shr |k R (WAL )
BREWK] 147 [EFL 107 |[@ARLT
20 |4 2hr iSRS
3L Flj( 3L |[iEEL
4 {r [ER 447 [BK
5 {ir *EF I 5L [IER
6 |k g
76 B
8fr ks G




gt

i H 3

7 Z ¥

% _
TAVETRE (4/17~24) |BRMIA | LA el %5 (GEs) 1AL [Fki%E Emk (BAXT)

AR R L AR 247 INVEIFALE (B T) 247 [HH=Akd (EART)

3z |TH KE (HK) 3L |El B (FALT)

Afr R ¥ (EES) 40r |BHE P (EALS)

547 |[fEREZE RR) 547 IHF HHE (mAZT)

6fr [P fne (TRESE) 647 |k VHE (mARZF)

Th BT (1) 747 |m Bk (A9

847 |5o)l ks (1) 8r [y #5H (F A& T)

e X 7272 (4/29) AR E IRV BN

B BB o AR 20z (B R

BARE 1 AR ETE GhAR

207 |ggi BRSE (KR

H
H
37 [EE TL7 GhAM
H
H

5L [—EbS L

6 {7 |ALRIFEHAR

(
(
(
40r B4 %%Ej
(
(

A (ST

Gl T
L |eiE ZAL (eI
TR 1 DOATE - 458 o K

247 |28 - EE (1

3fr (=W - ik (1

50r [Pk - AR (3

] )

j )
407 |HEH - R (Jﬁj(f%g

H

] )

647 I - B9A (4




